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_var = 99

my_ -~ o+= 11

my_var = v )
my r *= 2
my_var = ny_var)

my_var *= 4
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extract longer(7,

es a sentence and word le
se.

th, then returns a list of the sentence's words that
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d 2mber = My list()

december.in_my_list )
december.my_1list =december.my_list +

december.in_my_list )

M have a nice template for grocery lists and groceny st behavior
jan = My_list()

december.my_1list

jan.my_list

helpful:
Jecember)

PPN

jo my_list))

december = My list()
december)

december

Maybe 1 also war 0 be more easily test if my favorite snack is on the list...
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Ast))
my_list
jan.snack_check()
teb = My_l1St()
feb.snack_check()
I ct...
These are all the things you inhe by sub iing object.
em):
aps_list r.in_my _list(item)
per()

shouty = caps_list()
shouty.in_my_list:

caps_list)

Yc zan o call the super class directly, like so:
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item)

shouty = caps_list()
shouty.: my_list ]

Super actually assumes e correctt 1gs... Mostof e e.

tem):
).in_my_list(item)
pper()

shouty = caps_list()
¢ outy.in_my list )

help
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imy json
re: s = ( .loads(result) for result in db_cur -.execute(my_qu vy) )
re: s = ( e ts for r in resul
results = ( ‘name’], | ‘'type , r{'count'], r{'source’] ] for r : results )
. .
)

We can even filter our data in our generator pipeline.

re (r orrin res ts if >0 ) # remove results with a count of zero
o} ts) # do some ing else | your results
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data = [ 59, 202), , 49, 156), 61, 135)]

1 §
\'l
(ll
1
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data = file_weekly_summary:
ite_json_weekly_summary (i«
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(U) Be carefi . What's going on here?!?

counter = itertools.count(e.2,0.1)
er:

cycle = itertools.cycle

10):
cycli )

repeat = itertoc ;.repeat )

5):
repeat))

repeat = itertools epeat
5):
~epeat))

10,0,-1)

wums, itertools.repeat
ny_zip:

8)
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cal = pdt.Calendar({

examples = |
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examples = [

r.no ).ctime()), end

dt. result = cal.nar<eDT(e)
+ e+ v .ctime()))

4
("
[ ]
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' en you need your gui to respond to something other than a mouse  k or a specific kind of mouse click, you cai  ind you widget to an event.

) )

Adda ple callback functior ) example 9 using.
What does the command do when you click the "hello™ button?

Whe appens when you click the "Quit” button?

t: you really are "quitting” your program. It just doesn't  stroy (that is, close) your window!
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y_hello

it

master)

)

):
root Tk()
app - Application(master=root)
app.mainloop()
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( v that we have covered the three basics of GUI's: selecting widgets, arrangingth  in« v Jow, and adding ctionality, let's try a more complicated example.



Doc ID: 6689695

mainwin_rows-11
mainwin_cols=15
ALL=N+S+E+W
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mainwin_rows=11
mainwin_cols=15
ALL=N+S+E+W
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__name__ ==
main()

E v )

Gre: .et's add some buttons now. Even though buttons have a attribute, it can be tricky tn nz ormati  abc  the button being clicked using it."  would have to write a
separate function for each bu ! Instead, let's use (ey binding so we can access the button : event. Notice when we arrange the buttons we have to allign them by
int  ents of three since they span three col ns.

Y -
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We have three ways to access "row” 1 of a:

To get columr  Hosition 2:
al:,2]

To get single element "row” 0, column 2:
afe,2]

Cre  ng and modifying array:
¢ - np.array([z2,3,4])
c.dtype. name
= np.array([1.2,3.5,5.1])
dtype. name
Let's change one element of c:
c[ =4.5
c.dtype.name
Ut the type didn't change. But we tried to add a float! Let's see what happened:
C
Thear wasupdated,t the value we were adding was converted to an Be careful. The type m:  rsi!
This doesn't work:

f . np.array(1,2,3,4)

Needs to be this:
f - np.array([1,-,23,

Interprets a sequence of sequences as a two dimensional array. Sequence of sequence of sequences as a three dimenional array... you get the pattern?

g - np'array([[1'512)3])[4)5)6]])
g

Type can be specified at creation time:
ho- nn.array([ [1,2], [ 314]].! dtype
h)
)

h.d e.name)

Remember c? Here is how we can  ange it from integers to floats:
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L e

X
plt.
plt.

T1g
ax

X -
Y

X, Y
R

F4
surf
plt.

plt.
plt.
plt.
plt.
plt.

np.linspace(9,10,18¢)
np.exp(-a)

.plot(a,b)
.show()

1rormal, rand
normai{size ‘)
hist(x,bins  28)
show()

Axes3D

- p1U.T1gurey)

fig.gca(projection

np.arange(-5, 5, @.25)

np.arange(-5, 5, 0.25)

- np.meshgrid(X, Y)

np.sqrt(X <2 + Y**2)
np.sin(R)

ax.plot_surface(X, Y, Z, rstride-1, cstride-1, cmap cm.coolwarm)

show()

plot([1,2,3], [1,2,3], label linewidth-2)

plot([i,.,3], [1,4,9], label

axis 2, 5, 2, 1en

plot(a, b, color linestyle marker markerfacecolor
show()

markersize-12)



be filled in...
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Interpolation is simple and convenient in SciPy: The function, when given arrays describing X andY ata ‘turns an objectthatb aves like a function that can be called for
an arbitrary value of x (in the range cavered by X). It rewins uwre corresponding interpolated y value:
spinter
np.sin(x)
n np.arange(@e, 10)
x np.linspace(e, 9, 100)
y_meas f(n) - 2.1 * np.random.randn 1))

y_real £(x)

ar_interpolation spinter.int« 1ld(n, y_meas)
terpl linear_interpolation(x)

cubic_interpolation spinter.interpld(n, y_meas, kind
y_interp2 cubic_interpolation(x)

fig, ax plt.subp size=010.4))
ax.plot(n, y_meas, ibel
ax.plot(x, y_real, -2,
ax.plot(x, y_inter lab
ax.plot(x, y_inter lab

ax.legend(loc:3);
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x = np.linspace(®, 4*np.pi, 1090)
y = np.sin(x)
plot = f ure(tools:

plot.circle(x, y, c¢
ow(plot)

























































Doc ID‘, rronrarc
lues, ¢ I Jreg 2 the other results. 2 than SQL

1s witt ) bjects, sc efinitely chec!

b
aggregate hear )
































































































Doc ID
- desired tag and choose 'Copy Unique Selector’ to cc e CSS selector

ynavig : x rtothatte rather an crawling thr the entire
ck menuis =in Chrome)

bsObj.select_one(selector)
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u = tf.extrac lile
u2 = tf.extractfil [11)

u.re Iline()
u2.read()[:15¢

tf.extractall
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f_ ery )

f_query. first()
nectarine = Fruit
db_session.add(nectarine)

db_session.commit()
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db.close()
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page.ResizeToFitCo ents()
page.C¢ :erDrawing()

document . SaveAs

(U) Close = application.
v sio.Quit()

- XCE

~J)win32com works Excel too, but: e to the slowness of the interface, you're robably better off using andas.
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result_qg = Queue

work_q = Queue()
work_1 : - []

t):
time.sleep(ti1]1)

2]))

time_total - ©
i 10):
X = nd: 1 )
time_total += x
work_q.put((i,x))
work_list.append((i,x))

work_qg.qsize()

work_list)

wait_random(w)

‘time_total))
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completed)

I completed)





































































Doc ID: 6689695 _ _
predict fraudulent credit card transactions, a
predictec 1iat: ansacl

ige majority of cre . card ansac »nsare tlikelytc efrau lent. If we
transactions th  rere ac

were not fraudulent, it might be correct over 99% of the time. But it would

uilt a mode  at just
y fraudulent. Using the f1-score would bring

t arecall score of Oonpred 1g
at overall score down accouting for mb ance.
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GridSearch
rer, fbeta_score, fl_score, acc ‘acy_score

clf = RandomForestClassifier(random_state=123, n_estimators=100, bo ;tr

parameters = {

[2, 3, 4]
}
rage
estimator=clf,
aram_grid=parameters,
scoring=scorer
)

1lues.ravel())

best _clf = grid_fit.best_estimator_

best_predictions = best_clf.predict(X_test)

:ation_report
wredictions))

lest_predictions))
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GrocerylList.setdef:
eryList.setd ulti
GrocerylList. setdef:
ocerylList.setdefau:
wGrocerylList.s |
yNewGroceryList. set
yNewGrocerylList. se1

).
)))
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build_ start_times, name:
'fault_lay
bui options: + start_times, name
lefault_layout)
build_ .B 1_texi
bu ntent: , r_bc
r_w
'S = generate_times()
‘e_input_* 1es)
ay(border )

rg = RandomGenerator()
rg.run()





